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If so, he will also come and be %°¥2 on Tuesday

OVERVIEW

The &n>>12 states T2°R) 7300m1 (which was initially interpreted to mean 31;°n, and
was later interpreted to mean 9¥2°n) the custom was to marry '32. The X3 asked,
‘if 1t 1s so, the 17 will come on Tuesday as well. N901N explains the meaning of
2371 K.
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The explanation of the 7"X is; it is properly understood (why ©115% 171 79°R) 7100m)

'22) if we learn as we did initially, where the 0”3 said a 37790 '72 DRRIW 7903 -
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For then since their only intention is to sway the Jews away from the religion,

the 0°12 will not mind if they marry on Tuesday -
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However if you say that the 7100 is because of the 1237 n» w2, then since he is
interested in his pleasure he will also come on Tuesday and be »>pa.

SUMMARY
The solution of marrying on '3 is more practical if the concern is 377N rather than
2v2°n.

THINKING IT OVER

In this and in the previous’ noown the explanation seems identical (that by 30
there is no concern once it is not "72; however by v2°n the concern remains). Can
we say that in our m»on the differentiation is more valid (that by Sv2°n there is no
concern if it is not '72).°

! This Mmoo (as well as 73pn 77 '01) should precede 1M "7 'oIN.

? Generally the term 71"X is used to argue that if we understand it the original way then there are no questions;
however if we interpret it the new way there will be a difficulty; how does this apply in our situation.

? See footnote # 2.

* See previous 3PN 7"7 'O

> mpn M.

6 See (27¥ 'v21) TP MR PrX® 0770, See also 1M 71"'7 '01N on this 7Y,

TosfosInEnglish.com



